SAMPLE QUESTIONS

1. The correct statement about saving water is
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A. To turn off electrical equipment
when they are not in use B8 1
1) Fl S e i

B.Taking a walk or cycle to a nearby

place 17l B 17 I Ty )

C.To collect rainwater and use it to

wash the floor outside your house I

£ SNW) N AN 727 N =P ARION X

D.Pack items that can be recycled

and bring them to a recycling center
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2. The correct statement about
saving energy is I B BE Y 1A
e
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SAVE ENERGY
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when they are not in use BB Y
SR e fi

B.Taking a walk or cycle to a nearby
place A 178 AT JL 2P T 5

C.To collect rainwater and use it to
wash the floor outside your house &
MR B A VAR A1 1119 oA

D.Pack items that can be recycled
and bring them to a recycling center
N EIN SOk 7/ IR E a K = I EI N
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3. Soil is made of ¥
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A.weathered rocks and minerals J#/L
T

B.dead plants and animals 5t Z&fyEhkE
7|

C.air and water 2Z5%f1/K

D.all of the above L\ T fi

4. What are the main sources of water pollution?
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A.Plastic, Paper, and Metal #k}. HCF!
B.Snails in water K4

C.There is a boot with a snake inside of it that
somehow in the nearby lake. Bl ST i A — £
-, A — ke,
D.Agriculture, Industry,
Community 3. TRk

and

5. Answer the following question based on the
following statements: Assertion(A): A man takes
wooden logs on his head from the ground to the top
of the hill. The work done by man on logs and logs
now have potential energy. Reason(R): Energy can
neither be created nor be destroyed. It can only be
converted from one form to another.
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A. Both A and R are true and R is the correct
explanation of A. A F1 R &} B 4, R JE¥ A
1) 1T i 2 o

B. Both A and R are true but R is not the correct
explanation of A. A fl R #{1EfE, {1 R &%
A 1) IE R R

C. A is true but R is false. A kil fif,
B R N¥,

D. A and R both are false A fI R &2 1~
HHry

6. Which Fuel is used in thermal
power plants. K JJ5EE (s IR EA R,

A) Water K

B) Uranium
FHi
C) Biomass =¥'H D) Fossil

fuel 1tk

7. Assertion: Wind energy farms cannot be
established every where.

Reason: The wind energy farms can be established
only at those places where wind blows for most
part of the year
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A. Both the Assertion and the Reason are correct
and the Reason is the correct explanation of the
Assertion.

B. The Assertion and the Reason are correct but the
Reason is not the correct explanation of the
Assertion.

C. Assertion is true but the Reason is false.

D. The statement of the Assertion is false but the
Reason is true.

A. G5 A HbEEEfEry, Bl E¥ Brs
1) T e o

B. = RGN S 1 H SN S 2 B S ) R A
ERE,

C. B = Ry 1B (H 5N By A 1R

D. & 5 HBflie £ 31y, (HEE He R

8. Match the following VEfCLL M8

Q. Match column | with column Il and select the correct option from the codes given below

Column| Column I

A Cornea (i) Provides opening for light to enter

B Iris (ii) Transduces blue, green and red light

C Lens (i) Controls the amount of light that enters
D  Optic nerves (v)  Alters the shape of lens

E  Pupi (vy  Transmitinformation to the CN'S

F  Ciliary muscles (i Focus light directly on retina

G Fovea (vii)  Bends light and protects inner eye
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A R (iFE s ARYBHL

B HI[fH (ijRERS > SRS

C il (i) FZEIE ARDEE

D Wik (iv) B A HIIIR

E HEFL (v) [E] S I AE 247
Bl

F BETIRAIL (Vi) KGR i R B A A
) =

G oM (vii) 50 il YERAR PR PR

A A-(vii),B—(iii),C—(vi),
D—(v),E—(i),F—(iv),G—(ii)

B.A-(i), B-(ii), C—(iii), D—(iv), E-(v),
F—(vi), G—(vii)

C.A—(vii) , B=(vi), C—=(v), D—(iv), E—-(iii),
F-(ii), G—(i)

D.A—(vii) , B=(iv), C—(vi), D—=(v), E—(i),
F-(iii), G—(ii)

9. Two organisms that are closely
related would have RI{E % GIAH B M4V
iy e E]

A.Very similar DNA sequence JE% FILL
() DNA 751

B.Exactly the same DNA sequences 5t
2= #[H ) DNA #7%1

C.No proteins in common ¥ L[H(1 4
S

D.Completely different
sequence ¢ [W1 DNA 571

DNA
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10. Identify the part of the brain
that takes up the greatest volume ff
N KRR S PN YL Ok e

A.Brain stem [§i#%
B.Cerebellum /)i
C.Pons fi§#5
D.Cerebrum A Ji

11. Which of the following is part of the peripheral
nervous system? LA I IR L 2 i [ mfi R SR wi iy —
b7 ?

|

B.Spinal chord &

A.Brain AJfi
i

C.Heart muscle.JJl D.Taste buds on
tongue &I LK

12. What is the name of the female gamete in
humans? A EIRIEVE L IR FEEss 7 ?

A.Sperm ¥ |-
C.Ovary Jp i

B.Zygote & 1
D.Ovum Jp 1
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13. What type of fertilization is happening here?
s fEEE A AR S ?

A.Internal fertilisation #& N7k
B.External fertilisation {% 4} 2 k%
C.Internal reproduction M # %L
D.External reproduction £} #2 il

14. The green pigment used in
photosynthesis is MR EER
L SIEREE

A. Phytochrome J:ffi(a % B.
Chlorophyll %3

C. Hemoglobin IM#LdH D.
None 4

15. Which is the correct sequence of body parts in
the human alimentary canal? A#&78 {b i -h R

Lol A 8 - R Iy o2 2

(A) Mouth — stomach — small
intestine — large intestine —
oesophagus jE—% —/NMy— Ki— 83
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(B) Mouth — oesophagus — stomach
— small intestine — large intestine
M- fE— >/ N — K
(C) Mouth — stomach — oesophagus
— smallintestine — large intestine
e —H > a8~/ — K
(D) Mouth — oesophagus — stomach
— large intestine — small intestine
M- fE— > KIG— M

16. What is the biggest group on the
perlodlc table m%ﬂﬁﬂ%tbﬁjtmﬁf'?

,,.“Equ
L) TbDYHr
U ,Np PuAm|(‘le,m.-

A.Metals. & )& B.Nonmetals JE4>

}%
C.Metaloids KA D.Halogens
EIEA

17. The carbons circled in red... #T (2 /& H AR, ..

-

|(’ﬁ|
H,C—C—C=—C—+—C—CH,

!

A.Are double bonded
B.Are sharing two pairs of electrons

{1
C.Are sharing three pairs of

electrons L= =¥ |-
D.Are sharing three electrons = -
{4
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18. What do we hear thunder after we see a flash
of lightning , usually sometime later? ("l /£ 75 £
PO 2 BB 2 R B s, il e
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e O

A.Sound travels at a speed of 300,000,000 m/s.
while light travels at a speed of 330 m/s.

FETT L 300,000,000 K /RS HY 9L (R
Ll 330 m/s )R E Rk,

[N - R o Ao e TR i

[iiBi5

B. Sound travels at a speed of 330 m/s while light
travels at a speed of 3,000,000 m/s. & 5 LA
330 m/s HHE R, Mol 3,000,000
m/s AR RE(HFE,

C. Sound travels at a speed of 330 m/s while light
travels at a speed of 300,000,000 m/s. % & LA
330 m/s 1y H O, 1 )6 B
300,000,000 m/s i iE L gk,

D.Because imagine dragons thunder, feel the
thunder. [ B AL (41T, RE4Z 0%,

19. As a pendulum swings from its
highest to lowest position, what
happens to its kinetic and potential
energy? ‘i G EE i = 7 15 8 B B dn (K A7
IKf, THYEDREMIZAGE & o8 A {1 st 2

A.Both the potential energy and
kinetic energy decrease ZAREFIEIREED

kA
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B.The potential energy decreases
while the kinetic energy
increases ZAEEW]N, EEEHE A

C.The kinetic energy decreases while
the potential energy increases H)iE
W, BAREH N

D.Both the potential energy and
kinetic energy increase ZEM B HE KL
o

20. What is the value of gravity on Earth ? #1k |-
s a2 ?

A.8.9 m/s-2
C.9.8 m/s-2

B.9.3 m/s-2
D.8.66 m/s-2

21. What angle must there be between a magnetic
field and a conductor in order for the maximum

force to be exerted? A 1 i hnise K I, i35 A
B 2 LA AR ?

Direction of force

Answer (only in number) &% (H A8
7)o
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22. How many groups are there in modern periodic
table? B R r A Jerk 45 % 0 2

Answer (only in number) % (JUAH7)

23. How many carbons are there in the figure?
i 2 A (R ?

H
|

H-C—H

I
I—l."'.l—I
I—l"'.l—I

I

8
BE
H= (.I'I -H
H
Answer (only in number) &% (HAE
7))

24. What valency number of hydrogen
is....... S[UVEBEL D ...

\j.‘
Answer (only in number) &% (A5
) -

Valence Electrons in
Hydrogen (H)

25. X*

The atomic number of an element X is 19. The
number of electrons in its ion will be:

X+

L% X Wik 19, L1 rh i1

> .
Y .
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Valence electron

Wolence electran

A valence electron is
the electron on the
outermost shell of an
atorm and takes part in
chemical reactions.

&)

WALEMCE
ELECTROMNS u

Answer (only in number) 4% (A
)




